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1.1. 000

googbooobooobooo,bobobbooboboboob 200,300,k000O
ggbboboogbobbbouoogbobobooooboboooaoooo.

1.1.1. 000

000 G=(V,A) (ODOODoOOooooooO)oooo,Goooo20wb000000O,
wO000000000000,GO000000 (connected) 000, GOOOODOOO
(connected graph) 0 O00. 00 0000000000000 0O0O,DFSO BFSOOO
0000000.!' 000000000000 G=(V,A)OOUO,000000000
0000 GOO0O000 (connected component) 00 0. 000, HO GOOOOOOOO
ggoooood,

(i) HO GO0O0ODoDooooooog,
(i) HOOOOOOODODOOOoOoOoOoUoo Goooogouoooooooo

gogooboad.

1.1.2. 2000

000 G=(V,A)0O0O0O0O0OoUCvoooo,v\uooooooooooao (=
000 p6) GIV\U]O,G\UDO0.000,

G\U=GOO0O,v0vrv00000000000000000000

000. U0 10000000000,0000 ={}0000,G\{}000000
G\vODOO.

l0pooo0o00000,0000000000000,000000000000000,0000 100
gbooogoocobooooooooobo,0bobobooooobobooooo.




(a) (b)

0 1.1: (a) GOUCV (b) G\U

G=(V,A)DOUOOOOOooOoOoO. G\v000000000000 0000 (artic-
ulation vertex) 000 . 00000000000, 000000 200 (2-connected) O
O000.000,0010 (0000000000 O0)0DO000O0C0OO0oO0ooOO,20
goooooo.

0110 770000 GO, 200000.

000000 G =(V,A)OUODODO,00OU0Doo 200000000 GO 20000
(2-connected component) 0 O O .

1.1.3. 3000,4000,-,k000

G=(V,A)02000000000.G000020w0200000,G\{u,0}000
00000,G0300000 (3-connected) J00. 000,00020 (000000
000000)0000000000000300000000

0120 770000 GO,300000.

000 k>400000000,G=(V;A)O kKkOOOOOOOODO.

U< kO0000O0O0DOOOOO0OOUDODODOOO,G\UDODODOOOOOOO,GOE
000000000 . 000, d0d0l<k0 (000DOOCOO00O0OO0O)ODOOOOO
obooboodobD kO0bOoOoboooo.

013 0 7170000 GO,400000.0007

1.1.4. kODOO

Oob0 GO, qUoo0b0c—-10000000000O0O00DbDOODbOODO,,kDOO
(k-edge connected) OO OO0



kOoOo,g0boobooooboo,kb0boboboobo.

014 0 770000 GO, 2000,s0000000,40000000.



